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Last Week:

Showed plots with non-statistical peaks:

Problem with data run or problem with analysis code?

Run 411 Ar:CO,, Mix channel 13
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Quick reminder of what is meant by cut voltage:

If (max - baseline) > V1
Continue with analysis

R V1 = Cut Voltage
/ \ @ V1




Run 415 a|!l.r'.{‘.5f:‘.l2 90:10 mix, all channels
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Run 415 Ar:CO , 90:10 mix, all channels

Run 415 Ar:CO , 90:10 Mix channel 13
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128 ns drift fime

2640 a0 2800 2880 2980 3040 320 3200
nancseconds (8 nanesecond bins)



counts

450 —

350

250 -

200 [~

50—

Run 415 Ar:CO, 90:10 Mix channel 13
Cut at 5mV
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